(®)FLOW DESIGNS

Q PLATE FIVE-DIGIT HERITAGE NUMBER PLATE BRACKET

LOV/



INSTALLATION DIAGRAM - STEP 1
MOUNTING QPLATE FIVE-DIGIT HERITAGE NUMBER PLATE BRACKET TO VEHICLE

OPTION 2a

____________ OPTIONAL DOUBLE SIDED TAPE

To use Double Sided Tape as padding
inbetween bracket and vehicle, apply primer

For vehicles with existing
screw holes, mount bracket
through these holes using

INSTALLATION GUIDE

Option 2a without washers.

to back of Number Plate Bracket.

Apply double sided tape to primed area. Only
use one side of tape to acﬁwere to bracket.
| J

Vv R OPTIONAL STAND OFF SPACER

Insert mounting bolt / screw through number
plate bracket in desired slot then push bolt
through optional spacer.

+ Remove existing number plate from
vehicle.

+ Choose Bracket Mounting Option to suit
vehicle.
- Option 1 (M6 Connector Bolts)
- Option 2 (10g Screws)
- Option 3 (M5 Bolts - Mercedes Rear) O
Q\\\\

Install spacer with teeth facing inside towards
number plate bracket. Add additional spacers

if desired.
(. J

+ Select correct length bolt / screw (a or
b) to suit Mounting Option. Use shorter
bolts / screws if spacers are not used.

OPTION 3 - MERCEDES

For Mercedes Benz Rear number

E.@/ REAR MOUNTING

G plate, align and use these
* Insert bolt / screw through number m ' mounting holes, Mount on both
plate bracket and optional spacer then :

align to vehicle. 4 HANDY HINTS
+ Tighten Mounting bolts / screws to Use provided washer wher using screw | _
secure number plate bracket to vehicle. | U ounting Option. J %
7/ ( HANDY HINTS

Mount bolts / screw through slots to suit
factory mounting holes on vehicle.
Choose slots to suit desired number

BRACKET FITTING KIT 2

Vs

DOUBLE SIDED
[ opTioN 1b Thee
NNECTOR NNECTOR 10G X 25MM 10G X 38MM MG REAR B OORE
N N SELF-TAPPING SELF-TAPPING CONNECTOR BOLT STAND OFF SIDED TAPE
BLACK STAINLESS BLACK STAINLESS SCREW SCREW BLACK STAINLESS | "7 | SPACER X4
M6 X 20MM M6 X 30MM 16mm WASHER 16mm WASHER M5 X 20MM PRI*I\-IIER
X2 X4 X4 X1




INSTALLATION DIAGRAM - STEP 2
MOUNTING NUMBER PLATE TO QPLATE FIVE-DIGIT HERITAGE NUMBER PLATE BRACKET

INSTALLATION GUIDE

OPTIONAL DOUBLE SIDED TAPE
+ Choose Plate Mounting Option: ©
- Option 1 (6mm Dress Bolt) :
- Option 2 (6mm Security Bolt)
- Option 3 (6mm White Bolts)

To use Double Sided Tape to mount to
bracket, apply primer to back of number plate
and face of number plate bracket.

Apply double sided tape to primed area

before peeling tape backing.

* Insert bolt through Heritage number
plate, then align and mount to number

plate bracket.

+ Tighten Plate Mounting bolts to secure
number plate to bracket.

Optional White 6mm Bolts can be used
to match white number plate.

NUMBER PLATE FITTING KIT

] ] DOUBLE SIDED TAPE
3IDED TAPE
DRESS BOLT SECURITY BOLT '
DRESS BOLT SECURITY BOLT ]
(@) |BLack sTAINLESS ) |sLack staintess | | (@) 7 X4
O e it | | 5 | weame| | e +

X4 X 4 X 2 P;I(M;R

X2




NING X PN
3dVL SSTTNIVLS ILIHM
I & g3gis 318000
We g aHA WE 1108 ALRINJ3S
( Y ININOZ X SN
d:lugg\r(lefs @ SSTINIVLS YIv1d s!;'.llf\l“lvgl)s(%
1708 ¥O1DINNOD
(e NEINET) 1108 ALINND3S
$3Q34IN
YIHSVYM WwigT
.
MI¥IS
L X Il X DNIddVi-113S
ININBE X DOL
AIM NIV AIM NIV
INING"C WINY Z X
ININOE X 9N
\ \ SSTINIVLS YoV

1704
dO1dINNOD

@)m

()

) (o) ammg)

¢X

NIN9 X YIN
SSIINIVLS ILIHM
1704 ss3y¥a

v X

ININ9 X YIN
SSIINIVLS YDV 1d

1704 ss3¥a

¢X

YIHSYM wwgt
+

MIYIS
DNIddV1-473S
ININSZ X D0L

¢X

ININOZ X 9N
SSIINIVLS XOV1d

1704
YOL1I3INNOD

6D

(6)ID

() amd

@)

19VLI¥3H LI91d-3AI4 31V1dO

L X

1INIOVYE 31v1d 339NN

(A131v¥vd3as a10s) SI1¥0SSIDIV TYNOILAO L

1517 S14vd

Vs

13X¥DVAd 31V1d ¥3GNNN IDVLIYIH 1ID1d-3AI4 31V1dO

1IX ONILLId ANV 513dVd |




